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Tekst 10 
 

1p 30 Wat wordt duidelijk uit dit artikel? 
A Een verzekeringsmaatschappij heeft geld uitgekeerd omdat 

werknemers van een chocoladefabriek ziek werden op het werk. 
B Een werknemer van een chocoladefabriek mag bepaald voedsel niet 

eten van een verzekeringsmaatschappij. 
C Het personeel van een chocoladefabriek heeft bijzondere ingrediënten 

toegevoegd aan nieuwe chocoladesmaken. 
D Onderzoekers van een chocoladefabriek hebben ontdekt dat mensen 

de smaak van chocolade verschillend ervaren. 
 
 

Tekst 11 
 

1p 31 What is true according to paragraph 1? 
A Scientists had never found this many dinosaur bones before. 
B Scientists took far longer than usual to dig up the bones. 
C Villagers discovered remains of an unknown type of dinosaur. 
D Villagers think their region might turn into a well-known destination. 
 

1p 32 What does Roger Benson describe about the discovery of dinosaur bones 
in paragraph 2? 
A how the bones remained together 
B how the bones were dug up by him  
C how the dinosaurs had died  
D how the dinosaurs used to live 
 

1p 33 Kies bij    33    in alinea 3 het juiste antwoord uit de gegeven 
mogelijkheden. 
A dangerous 
B typical 
C uncommon 
D upsetting 
 

1p 34 Why was the discovery special according to paragraph 4? 
A because an almost complete set of bones was found  
B because the bones that were found were very well preserved 
C because until then no fossils had been found in that area 
 
 


